
Targetes autocorrectives

Dona-li la volta i
veuràs la resposta

Descomposició numèrica

Imprimeix a doble cara, donant-li la volta pel costat curt. 

Nivel 1: 3 xifres

Es llig:

Descomposició
Aditiva

Valor
posicional

UDCUMDM

625
Es llig:

Descomposició
Aditiva

Valor
posicional

UDCUMDM

625 Sis-cents vint-i-cinc

600 + 20 + 5

6C + 2D + 5U

6 2 5



Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

625

572

Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

731

413



Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

Quatre-cents tretze

731

413

400 + 10 + 3

4C + 1D + 3U

4 1 3

Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

Cinc-cents setanta-dos

625

572

500 + 70 + 2

5C + 7D + 2U

5 7 2

Set-cents trenta-u

700 + 30 + 1

7C + 3D + 1U

Sis-cents vint-i-cinc

600 + 20 + 5

6C + 2D + 5U

7 3 1 6 2 5



Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

853

956

Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

165

478



Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

Quatre-cents setanta-huit

165

478

400 + 70 + 8

4C + 7D + 8U

4 7 8

Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

Nou-cents cinquanta-sis

853

956

900 + 50 + 6

9C + 5D + 6U

9 5 6

Cent seixanta-cinc

100 + 60 + 5

1C + 6D + 5U

Huit-cents cinquanta-tres

800 + 50 + 3

8C + 5D + 3U

1 6 5 8 5 3



Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

482

998

Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

361

132



Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

Cent trenta-dos

361

132

100 + 30 + 2

1C + 3D + 2U

1 3 2

Es llig:

Es llig:

Descomposició
Aditiva

Descomposició
Aditiva

Valor
posicional

Valor
posicional

U

U

D

D

C

C

UM

UM

DM

DM

Nou-cents noranta-dos

482

998

900 + 50+ 2

9C + 9D + 2U

9 9 8

Tres-cents seixanta-u

300 + 60 + 1

3C + 6D + 1U

Quatre-cents huitanta-dos

400 + 80 + 2

4C + 8D + 2U

3 6 1 4 8 2


